
 
               
             

 

 

Choose the correct option. Two marks for each right answer. 
Use the information in the passage to answer (1- 4)  

     Peter Judd joined the army when he was eighteen, and for several months he was taught how to be a 
good soldier. He did quite well in everything except shooting. One day he and his friends were practising 
their shooting, and all of them were doing quite well except Peter. After he had shot at the target nine times 
and had not hit it once, the officer who was trying to teach the young soldiers to shoot said, ‘you’re quite 
hopeless, Peter! Don’t waste your last bullet too! Go behind that wall and shoot yourself with it.’ Peter felt 
ashamed. He went behind the wall, and a few seconds later, the officer and the other young soldiers heard 
the sound of a shot. ‘Heavens!’ the officer said. ‘Has that silly man really shot himself?’ He ran behind the 
wall anxiously, but Peter was all right. ‘I’m sorry, sir,’ he said, ‘but I missed again.’ 

 

1.  Peter Judd was good at ……………………… 

A- shooting himself behind the wall.                               B- shooting at the target nine times.  

C- hitting at the target only once.                            D- doing everything well apart from shooting. 

2. According to the passage, which answer is correct? 

A-The officer thought that Peter had really shot himself.        B-A lot of other soldiers were bad at shooting too. 

C- The officer was not pleased with Peter.            D- Both (A+C) 

3.  Peter apologized to the officer because he…………………… 

A- missed all the targets except the last one.              B- missed the last bullet to shoot himself. 

C- didn’t become a good officer.    D- thought that the officer was hopeful with him. 

4. When the officer ran behind the wall, he found that Peter……………………………………….. 

A-  had been shot dead.             B- was all right. C- had been shot and hurt.      D- had run away. 

5. ……….……is one of the most dramatic sights anywhere in the Middle East. 

A- Erbil Citadel             B- HCECR                C- Stonehenge       D- The Empire State Building   

6. Farmers might greatly have reduced the Oklahoma disaster if only they ……………………… 

A- had used more intensive techniques.                  B- had used less intensive techniques. 

C- had farmed only two crops: corn and cotton.                 D- had planted a mixture of crops. 

7. It’s necessary for Grade 12 students to…………………….to do the most important things first. 

A- use the calendar function in their mobiles                             B- use a chart or a diagram  

C- set priorities                                                                           D- set too many goals for themselves 

8. The Great Pyramid of Khufu stands on a …………....…base that measures……………………metres. 

A- square - 320 by 320      B- rectangular - 7.5 by 7.5        

C- square - 230 by 230      D- triangular - 146 by 146  

9. In the years (1979 - 80),…………. 

A- villages in Kurdistan were destroyed and 8,000 Barzanies were buried alive. 

B- hundreds of thousands of Kurds in Arab areas simply disappeared.  

C- Saddam used horrific chemical weapons on Halabja.  

D- nearly 182,000 people died in Kurdistan. 

10. ……………… was the scientist who invented………..……. in………..……  

A- Alexander Graham Bell - the photophone - 1808.              B- Tim Berners Lee - WWW - 1919. 

C- Steve Wright - the first website - 1991.                          D- Alexander Graham Bell - the telephone – 1875. 

11. …………………took over the village and renamed it …………..………  

A- Some Dutch people - Manhattan.                          B- Native Americans - New Amsterdam.  

C- The British - New York.               D- Immigrants - Staten Island.  

12. Tomorrow is my birthday.  ……………………. join my birthday party? 

A- Let’s                B- What about                        C- Why not          D- I suggest you   

13. Zara’s story was wonderful, ……………………….? 

A- isn’t it                               B- wasn’t it                               C- wasn’t she                     D- isn’t she 

14. …………. by plane? Yes, I……………. to London a few days ago. 

A- Have you ever travelled - flew                                  B- Did you ever travel - fly 

C- Have you already travelled - am flown                          D- Do you ever travelled - was flying  

15. Choose the wrong one. 

A- He’s the most powerful person in this region.      B- It’s the shorter route to the stadium. 

C- She was the least intelligent of the three sisters.      D- It’s the oldest castle in the town. 

16. He said that he…………everything without success, but that new medicine …..……….useful. 

A- tries - is                      B- had tried - was                   C- has tried - had be          D- tried - will been 

17. I’ll be watching my shows……..………April 12th……………..lunch……..…………….dinner. 

A- on - from- until         B- at - from - to    C- on - till - in                     D- none of them 

18. There …………………. for the crops to grow well in this land. 

A- isn’t enough rain                     B- are not rain enough  

C- was too much rains                  D-were too little rain 

19. Why…………………… that phone down and start doing your homework?  

A- haven’t you put     B- aren’t you putting            C- don’t you put       D-all of them 

20.  Which………..……Nian …………….at the party tonight? I think she’ll be singing the old one. 

A- will songs - be sing                                                   B- song - will be singing 

C- song will - be singing                                               D- songs - will singing 

21. The city which was destroyed during the war has been rebuilt. The tenses are…………….. 

A- past simple passive - present perfect passive.        B- past simple active - present perfect active. 

C- past perfect passive - past perfect active.            D- present simple passive - past simple active. 

22. Where’s Dara? // I’m not sure, but he…………….……………………………. in his office. 

A- maybe not               B- must be                           C- may be                    D- might has 

23. According to four RS, first of all, we need to reduce the amount of resources that we use. For example, we 
can……….…. 

A- keep old pots and cans to plant flowers and vegetables.        B- turn off the lights when we leave a room. 

C- store rain water to water garden flowers and vegetables.      D- Both (B and C) 

24. Choose the correctly spelt word for this definition.( very quickly and without stopping to do anything else).  

A- emmediately              B- immediately                     C- emediately                  D- imediately 
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25. (You need to take  breaks, or you will burn out). If we replace (or) by other conjunctions, we can say... 

A- You won’t burn out as long as you take breaks.     B- You will burn out if you take breaks. 

C- Unless you take breaks, you won’t burn out.               D- If you don’t take breaks, you’ll burnt out. 

26. If we change (12.5%) into a fraction, it’ll be…….  

A- ⅞     B- ⅛     C- ⅜    D- ⅝   

27. Let’s go to a country……………………the sun always shines. 

A- when               B- where         C-  which    D- why  

28. Which one does not include extra information? 

A- My best friend, who I met at college, is coming for the meeting. 

B- My car, which I bought seven years ago, needs replacing. 

C- The teacher that we had last semester was very tough. 

D- The boy, who went to the conference, gave a great presentation. 

29. This is the video………………….to show you. 

A- which I wanted      B- that I wanted                     C- I wanted          D- all of them 

30. I turn the lights off late at night……………………. electricity.  

A- so that I can save                  B- in order not to waste            C- so as to safe              D- Both (A and B)   

31. I………………………to travel round the world one day. 

A- would like      B- am aiming                C- hope          D- all of them 

32. I’m………………reading from the screen, I………………. read paper books in the past. 

A- get used to — got used to                               B- got used to — get used to    

C- used to — am used to                               D- getting used to — used to  

33. I can hear people ………………......They must be in the next room. 

A- talks                               B- to talk                                     C- talking                             D- talked 

34. …………………. arriving at the hotel, Mr Lee went straight to the reception desk. 

A- After he                         B- After                                       C- After he had                   D- After he is 

35. We’d better……………… a lot more food because the population is increasing. 

A- to start to produce      B- start producing             C- start produce                 D- starting to produce 

36. New York is a ………………. city which has many tourist……………… 

A- beautiful - attractions                               B- beauty - attractive 

C- beautifully - attracts                                    D- beautiful - attraction 

37. Which one shows the correct collocation according to Grade 12?   

A- climate change          B- atmospheric activity        C- wide war          D- cultural company 

38. The word (………………..) is pronounced the same as the word (………………..). 

A- berry _ bury                    B- keys _ quays                              C- peace _ piece              D- all of them 

39. The letter (……………..…) is not silent in the word……………………  

A- [b] _ debt                      B- [d] _ bridge                          C- [h] _ whole        D- [w] _ sword 

40. The underlined vowel letters in …………….………… are sounded as / ɒ / and / 3: /.    

A- workshop                    B- network                                      C- short-term                     D- long-term 

41. The sound / g / is found in………………………… 

A- rigging    B- arranged                  C- ringing                 D- designer 

42. There’s no / Ɔ: / sound in the word…………….…….. 

A- court              B- corn      C- irons   D- store 

43. Most of all, Silver was worried that he would be………, and he asked ……….to say a good word about him. 

A- marooned on the island - Jim Hawkins     B- hanged - Dr Livesey 

C- deposed by the pirates - the squire                D- returned to Bristol - Captain Smollett   

44. Captain Bill tells Jim not to go and tell the doctor to bring the magistrates to the Admiral Benbow unless 

………………  A- the pirates get the black spot on him.     B- Jim sees that Black Dog again.  

                    C- Jim sees the sailor with one leg.     D- all of them.  

45. People of the village were afraid of ………...…when Jim and his mother went to get their help. 

A- Mr Trelawney               B- Captain Silver       C- Captain Flint        D- several law officers 

46. ..……..…was a member of Flint’s old pirate crew who did not sail on the Hispaniola with the crew to the Island 
of Treasure. 

A- Black Dog   B- Blandly               C- Mr Arrow              D- Flint’s gunner 

47. Ben Gunn promised to help the squire in exchange for……………………..  

A- a safe passage home on the ship.    B- being well paid by the squire.   

C- being given lots of cheese by Jim.    D- Both (A and B). 

48. Silver told Israel Hands that he wanted to put off the mutiny for so long because……………..  

A- he wanted to wait to have the treasure on board. 

B- Captain Smollett was not an excellent sailor for sailing the Hispaniola. 

C- the pirates did not know how to sail the ship.  

D- he knew the exact location of the map and the treasure.  

49. Captain Smollett complained to the squire about the voyage because he…………………. 

A- didn’t like the ship that Blandly found  .                                          B- knew where they were going. 

C- heard from his own crew that they were going to find treasure.      D- none of them. 

50. Both the doctor and Jim Hawkins………..……………. when they left the stockade. 

A- told the others where they planned to go                 B- went to get away from the dead bodies  

C- took two pistols with them                     D- went to find Ben Gunn’s boat S 


